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1 1.18 0. 847 0. 295 730. 2 22.0 708.2 |28.751 x 1079 21. 62 x 10° | 61.60 x 10° |  35.09
2 1.19 0. 840 0. 293 710. 8 688.8 [27.320x 107% 19.84 x 10° | 57.98 x 10° | 34.21
3 1. 05 0. 952 0. 295 690. 5 668.5 |22.725x 1073|'16.13 x 10° | 54.13 x 10° 29.79
4 1. 02 0. 980 0. 293 645. 0 623.0 |19.831x 1073 13.03 x 10° | 48.59 x 10° 26. 81
5 0.92 1. 087 0. 291 581. 0 559.0 |15.051x 1073 8.81 x 10° | 40.73 x 10° | 21.63
6 0.97 1. 031 0. 285 562. 5 540.5 [12.363x 107 6.85 x 10° | 31.65 x 10° | 21.64




